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QUESTION 1

Which data sources are supported by the User Management Engine (UME) of AS Java? (Choose three.)
A. A UDDI provider

B. The database of the AS Java

C. A client of an AS ABAP based SAP system

D. A directory server (LDAP)

E. A file (also called secure store)

Correct Answer: BCD

QUESTION 2

You have opened a CCMS monitor in transaction RZ20 (CCMS Monitor Sets).

YWiew: Current system status |
B Node display off
_|Entire System &
= [ 1DEY &
= [ lApplication Server (5]

0 [ (twdf1921_DEY_ 00
0B [ twdf1921_DEY_01

What can you conclude by analyzing the attached screenshot?

A. Instances 00 and 01 of SAP system DEV on host twdf1921 are not running.

B. Instances 00 and 01 of SAP system DEV on host twdf1921 are running, but cannot be reached by CCMS.
C. All nodes below the MTE "twdf1921_DEV_00" have the status "red".

D. At least one node below the MTE "twdf1921_DEV_00" has the status "red".

Correct Answer: D

QUESTION 3

Where can you find details on the memory consumption of the integrated ITS?
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A. Using the ICF service /sap/moni/its/mem

B. In the SAP system, using transaction/report SITSPMON
C. On operating system level, using the command "its -mem"
D. In the SAP system, using transaction SMICM

Correct Answer: B

QUESTION 4

Regarding the object, TemSe, of the SAP spool system, which of the following statements are correct? (Choose two.)
A. TemSe stores, for example, spool data.

B. TemSe always stores the spool requests in the database.

C. The instance parameter "rspo/store_location" determines where TemSe data is stored.

D. TemSe is always an operating system file.

Correct Answer: AC

QUESTION 5

You want to use the Change and Transport System (CTS) to perform transports of non-ABAP objects into non-ABAP
systems. Which configuration settings are necessary for this? (Choose three.)

A. The CTS Deploy Web Service must be configured.

B. You must use client-dependent transport routes for all systems in your transport domain.

C. The transport domain controller system must be based on SAP NetWeaver AS 7.00 SP Stack 12 or higher.
D. You need to adjust certain tp parameters for the non-ABAP systems in question.

Correct Answer: ACD
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